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; 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 5.61 70.10 | #hS | 000 ~ 561 1.95 9.86 st 1.00 | 5.00 ~ 6.80 70.10 | #nS | 6,00 ~ 6.80 | 1.95 9.86
2 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
zh st 100|000 ~ 755 96.60 | =S | 000 ~ 755|261 1319 Fhs 1.00 | 5.00 ~ 1290 96.60 | NS | 5,00 ~ 1290 2.61 1319
3 100kN/mM%E#8Z5| 1.00 | 0.00 ~ 311 149.65 |3mERBZB| 0.00 ~ 021|812 15.76 | 100kN/mM%E#BZ2 5 | 1.00 | 1057 ~ 2690 | 149.65 |3m%ERBAB| 2500 ~ 2690 | 3.12 15.76
ZhnLst 1.00| 311 ~ 19| 100.00| ThLs | 021 ~ 1090|300 15.16 Fhs 1.00 | 5.00 ~ 1057 100.00 | =nLst | 5,00 ~ 2500| 3.00 15.16
4 100kN/mM&E#BZ 5| 1.00 | 0.00 ~ 1.35 120.63 |3m&x#EZH| — ~ — — — | 100kN/mi%#BZ 5 | 1.00 | 1089 ~ 1523 | 120.563 |3mEHEZD -~ — — —
Zh st 1.00| 1.3 ~ 914 100.00 | #nLS | 0.00 ~ 914 | 2.53 12.78 Zh st 1.00 | 5.00 ~ 1089 100.00 | =ns | 500 ~ 1523\ 2.563 12.78
5 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z 3 — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 7.03 89.15 | #FnLst | 0.o0o ~ 0.00| 1.69 8.62 ZzhLs 1.00 | 5.00 ~ 890 89.15 | =N | 65.00 ~ 890 | 1.69 8.562
e 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 579 72.38 | #hS | 000 ~ 0.00)| 1.66 8.37 ZzhLs 1.00 | 5.00 ~ 6.60 72.38 | #nLS | .00 ~ 6.60 | 1.66 8.37
. 100kN/MZ#B % % — -~ = —|[3mEEZB| — ~ — — — | 100kN/MZ#Z % — - ~ — — |3mZE#BZ B -~ — — —
Zzhn st 1.00 | 0.00 ~ 4.67 5818 | Nl | 000 ~ 0.00| 1.62 818 st 1.00 | 5.00 ~ 56.00 5818 | =S | 5.00 ~ 5.00)| 1.62 818
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImERZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLLsh ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh st ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlsh ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLLsh ~ ZhLst ~
100kN/MZ#B % % ~ ImERBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEBZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZThLLS ~ ZNLs ~ zhs ~ Zzh st ~




